
Top & Bottom Set 
OKKTB****

Rear Panel
RPE***

Eyebolt
GLF812-K4

Lifting Lug
GLP830

Side Panel
DLK***

Top & Bottom Set 
OKKTB****

Plinth Sides
FLK** Plinth Front / Rear 

ZAK***
Window Door
DTE***

Door
DBE***

Frame Set - 4 pieces
MTK***-4

OK Series 



Table of Contents

2



Width x Depth (mm) Part Number
600 x 400 OKKTB6040
600 x 600 OKKTB6060
600 x 800 OKKTB6080
800 x 400 OKKTB8040
800 x 600 OKKTB8060
800 x 800 OKKTB8080
1000 x 400 OKKTB1040
1000 x 600 OKKTB1060
1000 x 800 OKKTB1080
1200 x 400 OKKTB1240
1200 x 600 OKKTB1260
1200 x 800 OKKTB1280

roof and base set
okktb

The roof and base set determine the width and depth of your enclosure. OKKTB parts in 
combination with MTK parts makes a complete frame series. 

RAL 7035 light gray, textured powder coat finish

Application

Construction

Finish

• Carbon Steel
• Galvanized base frame with gland plates
• Galvanized top frame with powder coated cover
• 16 installation fasteners M8 x 16mm T30 Button Head Screw M8 x 16mm T30 Button Head 
   Screw M8 x 16mm T30 Button Head Screw

3

https://www.saginawcontrol.com/partnumber_info/?n=OKKTB6040
https://www.saginawcontrol.com/partnumber_info/?n=OKKTB6060
https://www.saginawcontrol.com/partnumber_info/?n=OKKTB6080
https://www.saginawcontrol.com/partnumber_info/?n=OKKTB8040
https://www.saginawcontrol.com/partnumber_info/?n=OKKTB8060
https://www.saginawcontrol.com/partnumber_info/?n=OKKTB8080
https://www.saginawcontrol.com/partnumber_info/?n=OKKTB1040
https://www.saginawcontrol.com/partnumber_info/?n=OKKTB1060
https://www.saginawcontrol.com/partnumber_info/?n=OKKTB1080
https://www.saginawcontrol.com/partnumber_info/?n=OKKTB1240
https://www.saginawcontrol.com/partnumber_info/?n=OKKTB1260
https://www.saginawcontrol.com/partnumber_info/?n=OKKTB1280


Vertical Frame
MTK

Vertical frames determine the height of your enclosure. MTK parts in combination with OKKTB 
parts makes a complete frame series. 

Galvanized steel

Application

Construction

Finish

• Robust vertical structure rail
• Pre-punched holes on interior surfaces
• Uses M6 cage nuts and M5 self-threading screws

Height (mm) Part Number
1800 MTK180-4
2000 MTK200-4
2200 MTK220-4

4

https://www.saginawcontrol.com/partnumber_info/?n=MTK180-4
https://www.saginawcontrol.com/partnumber_info/?n=MTK200-4
https://www.saginawcontrol.com/partnumber_info/?n=MTK220-4


Door
DBE

DBE doors are used on the OK series. Part number includes 4 hinges, allowing 120° opening.  
Doors are interchangable to swing open left or right. The two-component polyurethane
gasket is foamed on an external perimeter with respect to the locking system. DBE doors also 
include a completely galvanised inner-stiffening frame.

RAL 7035 light gray, textured powder coat finish

Application

Construction

Finish

• Carbon Steel
• Galvanized inner stiffener frame
• Door opens 120°
• Door interchangeable - right or left swing
• Pour-in-place oil & water resistant gasket
• 4-point latching mechanism
• 3mm double bit key entry

Height x Width (mm) Part Number
1800 x 600 DBE186
1800 x 800 DBE188
1800 x 1000 DBE18A
1800 x 1200 DBE18C
2000 x 600 DBE206
2000 x 800 DBE208
2000 x 1000 DBE20A
2000 x 1200 DBE20C
2200 x 600 DBE226
2200 x 800 DBE228
2200 x 1000 DBE22A
2200 x 1200 DBE22C

5

https://www.saginawcontrol.com/partnumber_info/?n=DBE186
https://www.saginawcontrol.com/partnumber_info/?n=DBE188
https://www.saginawcontrol.com/partnumber_info/?n=DBE18A
https://www.saginawcontrol.com/partnumber_info/?n=DBE18C
https://www.saginawcontrol.com/partnumber_info/?n=DBE206
https://www.saginawcontrol.com/partnumber_info/?n=DBE208
https://www.saginawcontrol.com/partnumber_info/?n=DBE20A
https://www.saginawcontrol.com/partnumber_info/?n=DBE20C
https://www.saginawcontrol.com/partnumber_info/?n=DBE226
https://www.saginawcontrol.com/partnumber_info/?n=DBE228
https://www.saginawcontrol.com/partnumber_info/?n=DBE22A
https://www.saginawcontrol.com/partnumber_info/?n=DBE22C


window Door
Dte

DTE doors feature an acrylic window for the OK series. Part number includes 4 hinges, allowing 
120° opening. Doors are interchangable to swing open left or right. The two-component 
polyurethane gasket is foamed on an external perimeter respect to the locking system. DBE 
doors include a completely galvanised inner-stiffening frame.

RAL 7035 light gray, textured powder coat finish

Application

Construction

Finish

• Carbon Steel
• Galvanized inner stiffener frame
• Door opens 120° 
• Door interchangeable - right or left swing
• Pour-in-place oil & water resistant gasket
• 4-point latching mechanism
• 3mm double bit key entry

Height x Width (mm) Part Number
1800 x 600 DTE186
1800 x 800 DTE188
1800 x 1000 DTE18A
2000 x 600 DTE206
2000 x 800 DTE208
2000 x 1000 DTE20A
2200 x 600 DTE226
2200 x 800 DTE228
2200 x 1000 DTE22A

6

https://www.saginawcontrol.com/partnumber_info/?n=DTE186
https://www.saginawcontrol.com/partnumber_info/?n=DTE188
https://www.saginawcontrol.com/partnumber_info/?n=DTE18A
https://www.saginawcontrol.com/partnumber_info/?n=DTE206
https://www.saginawcontrol.com/partnumber_info/?n=DTE208
https://www.saginawcontrol.com/partnumber_info/?n=DTE20A
https://www.saginawcontrol.com/partnumber_info/?n=DTE226
https://www.saginawcontrol.com/partnumber_info/?n=DTE228
https://www.saginawcontrol.com/partnumber_info/?n=DTE22A


Side Exterior PanelS
DLK

DLK side panels are supplied as a pair and include exterior panel mounting clips (CLK013-KIT2F).

RAL 7035 light gray, textured powder coat finish

Application

Construction

Finish

• Carbon Steel
• M6 ground stud top and bottom
• Pour-in-place oil & water resistant gasket
• Exterior Panel Mounting Clips CLK013-KIT2F

Height x Width (mm) Part Number
1800 x 400 DLK184
1800 x 600 DLK186
1800 x 800 DLK188
2000 x 400 DLK204
2000 x 600 DLK206
2000 x 800 DLK208
2200 x 400 DLK224
2200 x 600 DLK226
2200 x 800 DLK228

7

https://www.saginawcontrol.com/partnumber_info/?n=DLK184
https://www.saginawcontrol.com/partnumber_info/?n=DLK186
https://www.saginawcontrol.com/partnumber_info/?n=DLK188
https://www.saginawcontrol.com/partnumber_info/?n=DLK204
https://www.saginawcontrol.com/partnumber_info/?n=DLK206
https://www.saginawcontrol.com/partnumber_info/?n=DLK208
https://www.saginawcontrol.com/partnumber_info/?n=DLK224
https://www.saginawcontrol.com/partnumber_info/?n=DLK226
https://www.saginawcontrol.com/partnumber_info/?n=DLK228


rear exterior panel
rpe

Rear panels include 8 fast-fixing clips (CLK013)

RAL 7035 light gray, textured powder coat finish

Application

Construction

Finish

• Carbon steel
• 8 fixing points to the frame
• Pour-in-place oil & water resistant gasket
• Exterior panel mounting clips CLK013-KITR

Height x Width (mm) Part Number
1800 x 600 RPE186
1800 x 800 RPE188
1800 x 1000 RPE18A
1800 x 1200 RPE18C
2000 x 600 RPE206
2000 x 800 RPE208
2000 x 1000 RPE20A
2000 x 1200 RPE20C
2200 x 600 RPE226
2200 x 800 RPE228
2200 x 1000 RPE22A
2200 x 1200 RPE22C

8

https://www.saginawcontrol.com/partnumber_info/?n=RPE186
https://www.saginawcontrol.com/partnumber_info/?n=RPE188
https://www.saginawcontrol.com/partnumber_info/?n=RPE18A
https://www.saginawcontrol.com/partnumber_info/?n=RPE18C
https://www.saginawcontrol.com/partnumber_info/?n=RPE206
https://www.saginawcontrol.com/partnumber_info/?n=RPE208
https://www.saginawcontrol.com/partnumber_info/?n=RPE20A
https://www.saginawcontrol.com/partnumber_info/?n=RPE20C
https://www.saginawcontrol.com/partnumber_info/?n=RPE226
https://www.saginawcontrol.com/partnumber_info/?n=RPE228
https://www.saginawcontrol.com/partnumber_info/?n=RPE22A
https://www.saginawcontrol.com/partnumber_info/?n=RPE22C


Side Door
FPK

Side doors for OK Series enclosures. 

RAL 7035 light gray, textured powder coat finish

Application

Construction

Finish

• Carbon steel
• Pour-in-place oil & water resistant gasket
• Part includes set of distance plates for hinges and gaskets and set of 180° hinges

Height x Width (mm) Part Number
1800 x 400 FPK184
1800 x 600 FPK186
1800 x 800 FPK188
2000 x 400 FPK204
2000 x 600 FPK206
2000 x 800 FPK208
2200 x 400 FPK224
2200 x 600 FPK226
2200 x 800 FPK228

9

https://www.saginawcontrol.com/partnumber_info/?n=FPK184
https://www.saginawcontrol.com/partnumber_info/?n=FPK186
https://www.saginawcontrol.com/partnumber_info/?n=FPK188
https://www.saginawcontrol.com/partnumber_info/?n=FPK204
https://www.saginawcontrol.com/partnumber_info/?n=FPK206
https://www.saginawcontrol.com/partnumber_info/?n=FPK208
https://www.saginawcontrol.com/partnumber_info/?n=FPK224
https://www.saginawcontrol.com/partnumber_info/?n=FPK226
https://www.saginawcontrol.com/partnumber_info/?n=FPK228


Eyebolt

Lifting Lug Bolt-On

GLF

GLP

Eyebolt for OK Series enclosures. Galvanized steel. 

Lifting Lug Bolt-On for OK Series. Galvanized steel. 

Application

Application

Part Number
GLF812-K4

Part Number
GLP830

10

https://www.saginawcontrol.com/partnumber_info/?n=GLF812-K4
https://www.saginawcontrol.com/partnumber_info/?n=GLP830


Height x Width (mm) Part Number
1600 x 600 PNA186
1800 x 800 PNA188
1800 x 1000 PNA18A
1800 x 1200 PNA18C
2000 x 600 PNA206
2000 x 800 PNA208
2000 x 1000 PNA20A
2000 x 1200 PNA20C
2200 x 600 PNA226
2200 x 800 PNA228
2200 x 1000 PNA22A
2200 x 1200 PNA22C

Subplate
PNA

Subplates for OK Series enclosures. 

Galvanized Steel

Application

Construction

Finish

• Galvanized steel
• Includes Subpanel Mounting Kit PPK100

11

https://www.saginawcontrol.com/partnumber_info/?n=PNA186
https://www.saginawcontrol.com/partnumber_info/?n=PNA188
https://www.saginawcontrol.com/partnumber_info/?n=PNA18A
https://www.saginawcontrol.com/partnumber_info/?n=PNA18C
https://www.saginawcontrol.com/partnumber_info/?n=PNA206
https://www.saginawcontrol.com/partnumber_info/?n=PNA208
https://www.saginawcontrol.com/partnumber_info/?n=PNA20A
https://www.saginawcontrol.com/partnumber_info/?n=PNA20C
https://www.saginawcontrol.com/partnumber_info/?n=PNA226
https://www.saginawcontrol.com/partnumber_info/?n=PNA228
https://www.saginawcontrol.com/partnumber_info/?n=PNA22A
https://www.saginawcontrol.com/partnumber_info/?n=PNA22C


Width (mm) Part Number
400 TTP040
600 TTP060
800 TTP080

Roof Panel Filler Plate
TTP

The roof panel filler plate is fixed to the joints of the frame in order to cover the gap between 
the top panels.

RAL 7035 light gray, textured powder coat finish

Application

Construction

Finish

• Carbon Steel

12

https://www.saginawcontrol.com/partnumber_info/?n=TTP040
https://www.saginawcontrol.com/partnumber_info/?n=TTP060
https://www.saginawcontrol.com/partnumber_info/?n=TTP080


Width (mm) Part Number
1800 FUP188
2000 FUP208
2200 FUP228

Subpanel Filler Plate
FUP

The FUP Subpanel Filler Plate is fixed to PNA mounting plates with a set of screws. The plate 
filler is supplied with holes for self-threading screws, frequently used for wiring ducts. 

Galvanized steel

Application

Construction

Finish

• Galvanized steel
• Includes 6 screws M8x16 and 6 threaded inserts M8

13

https://www.saginawcontrol.com/partnumber_info/?n=FUP188
https://www.saginawcontrol.com/partnumber_info/?n=FUP208
https://www.saginawcontrol.com/partnumber_info/?n=FUP228


Width (mm) Part Number
600 PFR060
800 PFR080
1000 PFR100
1200 PFR120

Drip Shield
PFR

The PFR Drip Shield is installed atop the front of the enclosure’s door for additional protection 
agaist rain. 

RAL 7035 light gray, textured powder coat finish

Application

Construction

Finish

• Carbon steel
• Includes gasket and fixing screws

14

https://www.saginawcontrol.com/partnumber_info/?n=PFR060
https://www.saginawcontrol.com/partnumber_info/?n=PFR080
https://www.saginawcontrol.com/partnumber_info/?n=PFR100
https://www.saginawcontrol.com/partnumber_info/?n=PFR120


Height x Depth (mm) Part Number
1800 x 400 SVNK184
1800 x 600 SVNK186
1800 x 800 SVNK188
2000 x 400 SVNK204
2000 x 600 SVNK206
2000 x 800 SVNK208
2200 x 600 SVNK226
2200 x 800 SVNK228

vertical inner partition
svnk

The vertical inner partition separates two sections of the same enclosure.

Galvanized steel

Application

Construction

Finish

• Galvanized steel

15

https://www.saginawcontrol.com/partnumber_info/?n=SVNK184
https://www.saginawcontrol.com/partnumber_info/?n=SVNK186
https://www.saginawcontrol.com/partnumber_info/?n=SVNK188
https://www.saginawcontrol.com/partnumber_info/?n=SVNK204
https://www.saginawcontrol.com/partnumber_info/?n=SVNK206
https://www.saginawcontrol.com/partnumber_info/?n=SVNK208
https://www.saginawcontrol.com/partnumber_info/?n=SVNK226
https://www.saginawcontrol.com/partnumber_info/?n=SVNK228


Width x Depth (mm) Part Number
600 x 600 SOAK606
800 x 400 SOAK804
800 x 600 SOAK806
800 x 800 SOAK808

Horizontal inner partition
SOAK

The horizontal inner partition separates two sections of an enclosure and can be used as 
horizontal support.

Galvanized steel

Application

Construction

Finish

• Galvanized steel
• Screwed to the frame elements

16

https://www.saginawcontrol.com/partnumber_info/?n=SOAK606
https://www.saginawcontrol.com/partnumber_info/?n=SOAK804
https://www.saginawcontrol.com/partnumber_info/?n=SOAK806
https://www.saginawcontrol.com/partnumber_info/?n=SOAK808


Width (mm) Part Number
600 LIP600
800 LIP800

inner folding desk
Lip

The LIP foldable desk is fixed to the door inner-stiffening frame by two corner brackets, and can 
be adjusted by means of mechanical blocks. It can be folded flush to the door.

Galvanized steel

*LIP-S: Two brackets left and right

Application

Construction

Finish

• Galvanized steel
• Includes desk, fixing brackets, desk blocks, and screws

17

https://www.saginawcontrol.com/partnumber_info/?n=LIP600
https://www.saginawcontrol.com/partnumber_info/?n=LIP800
https://www.saginawcontrol.com/partnumber_info/?n=LIP-S


Part Number
UTK700

Enclosure Baying Kit Brackets
UTK

The baying kit bolt pack is a complete set of accessories for joining two enclosure series by their 
sides and rear sides.

Zinc plated

Application

Includes Finish
• 12 screws fl. M8x16 hexagonal head
• 24 screws TT M6x12 torx T30
• 24 cage nuts M6
• 4 reinforcing corner brackets
• 2 inner fixing brackets
• 6 distance-keeper brackets
• 12 sagomated gasket
• 5m gasket

Part Number
URR700

Baying Kit for Joining Two Back to Back
Urr

Kit for joining the back-to-back cabinets is a complete set of special accessories that allow 
maintaining the internal protection (IP) level and stiffening the structures

Zinc plated

Application

Includes Finish
• 16 hexagonal head flanged screws
• 24 screws TT M6x12 torx print T30
• 28 cage nuts for external M6
• 4 internal corner brackets
• 2 internal plates for rear fixing
• 8 outer spacer brackets
• 16 shaped gaskets
• 5m perimeter gasket per side

Part Number
APK110

Hardware Kit, Recess Mounted Subpanel
apk

Kit to install the mounting plate at the rearmost position inside the enclosure, flush to the two 
rear vertical elements of the frame

Zinc plated

Application

Includes Finish
• 2 upper fixing brackets
• 4 washers M8
• 2 screws Torx M8
• 2 nuts M8 DGM900 for external M6
• 2 mounting plate sliders DGM800 M8
• 2 mounting plate sliders
• 2 fixing conic pins M6

18

https://www.saginawcontrol.com/partnumber_info/?n=UTK700
https://www.saginawcontrol.com/partnumber_info/?n=URR700
https://www.saginawcontrol.com/partnumber_info/?n=APK110


plinth Base
ZAK part numbers determine the width of your enclosure. 
FLK part numbers determine the depth of your enclosure. 
Together, FLK and ZAK parts make a complete plinth base. 

RAL 7024 graphite gray, textured powder coat finish

RAL 7024 graphite gray, textured powder coat finish

Application

ZAK Includes

flK Includes

Finish

Finish

FLK Plinth Sides

zak Plinth front/rear
• Front and rear plates
• Set of 4 corner pieces
• Screws

• Side flanges
• screws

Depth (mm) Part Number

10
0 

m
m

 H
ei

gh
t

400 FLK14

600 FLK16

800 FLK18

20
0 

m
m

 H
ei

gh
t

400 FLK24

600 FLK26

800 FLK28

Width (mm) Part Number

10
0 

m
m

 H
ei

gh
t

600 ZAK061

800 ZAK081

1000 ZAK0A1

1200 ZAK0C1

20
0 

m
m

 H
ei

gh
t

600 ZAK062

800 ZAK082

1000 ZAK0A2

1200 ZAK0C2

19

https://www.saginawcontrol.com/partnumber_info/?n=FLK14
https://www.saginawcontrol.com/partnumber_info/?n=FLK16
https://www.saginawcontrol.com/partnumber_info/?n=FLK18
https://www.saginawcontrol.com/partnumber_info/?n=FLK24
https://www.saginawcontrol.com/partnumber_info/?n=FLK26
https://www.saginawcontrol.com/partnumber_info/?n=FLK28
https://www.saginawcontrol.com/partnumber_info/?n=ZAK061
https://www.saginawcontrol.com/partnumber_info/?n=ZAK081
https://www.saginawcontrol.com/partnumber_info/?n=ZAK0A1
https://www.saginawcontrol.com/partnumber_info/?n=ZAK0C1
https://www.saginawcontrol.com/partnumber_info/?n=ZAK062
https://www.saginawcontrol.com/partnumber_info/?n=ZAK082
https://www.saginawcontrol.com/partnumber_info/?n=ZAK0A2
https://www.saginawcontrol.com/partnumber_info/?n=ZAK0C2

	Bookmark 1
	okktb
	PNA
	plinth Base

	Enclosure Components: 
	Subplate/general accessories: 
	Plinth: 


